1. What docs one study in Palacontology?
(A) Plant and Animal fossils
(B) Volcanoes
(C) Atmosphere
(D) Rocks

2. Newton's first law of motion is also known
as

(A) constancy principle
(B) principle of relativity
(C) causality principle
(D) principle of inertia

3. The Jallianwala Bagh Massacre took place

on
(A) 28th July, 1914
(B) 24th July, 1935
(C) 16th October, 1905
(D) 13th April, 1919

4, President of India is elected by
(A) Rajya Sabha

(B) Members of Parliament and members
of State Legislative Assemblies

(C) Lok Sabha
(D) Parliament Members

5. What was the real name of Birbal ?
(A) Mahesh Das
(B) Shyam Das
. (C) Bhagwan Das
(D) Ram Das

(3)
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6. Diamond is hard because

(A) itis made up of carbon atoms.

(B) all the four valence electrons are

bonded to each carbon atom by
covalent bonds,

(C) it cannot be burnt.
(D) itis a giant molecule.

7. The maximum duration of ‘Zero-Hour’ in
the Lok Sabha is

(A) 60 minutes

(B) Indefinite peniod
(C) 30 minutes

(D) 2 hours

8. India gets the largest share of its G.D.P.
from which of the following sectors ?

(A) Construction sector
(B) Service sector

(C) Agriculture sector
(D) Manufacturing sector

9. The Law of Natural Selection is associated
with
(A) Darwin
(B) Mendel
(C) Dalton
(D) J. B. S. Halden

10. Which of the following is needed by a
person suffering from diabetes ?

(A) Penicillin

(B) Streptomycin

(C) Insulin

(D) Steroids ‘

6. 271G R8T 1Al
(A) &fb A oA s s
(B) 777 STl ST ZEAZ (RIS 7
T vt ol T oI S T |
(C) «fb cArGrTT T |
(D) «ft «f6 ooy 9|
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EG
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I1. The chicef constituent of ‘Gobar' gas is

11, ‘CoIra’ SOIGT 2t A 27
(A) Carbon dioxide (A) FI1 GRITAZT
(B) Methane AB) foam
(C) Ethane (C) QM
(D) Hydrogen (D) ZRIGrTe

12. The book “Letters from a Father to

12. “Letters from a Father to Daughter” 43f0
Daughter” was written by

feafete™
(A) Mahatma Gandhi (A) =t oI
(B) B. V. Patel (B) . fS. AMG=
(C) Jawaharlal Nehru : (C) TOZTAM (IIZF
(D) S. Radhakrishnan (D) 9. TSI

13. Africa is separated from Europe by
(A) Mediterranean Sea
(B) Red Sea
(C) Atlantic Ocean
(D) Persian Gulf

13. et 3ETI9t (A 24T TR T TG
AA) TR
(B) =IfZS HlsiA
(C) =io=IT e
(D) A=y oI

14. Which country has won the 2018 FIFA

14. FfmITS S 2018 el Rwlst @i
World Cup held in Russia? s CFI ¢
(A) Croatia : A)
(B) Germany @B G
(C) Brazil ‘ Rig
(D) France © gifr
(D) &R

15. Which of the following is India’s largest

Public Sector Commercial Bank at present? ﬁ%: A G TEA SIS TH ARR
(A) IDBI Bank A Tilfere e
(B) State Bank of Indja (A) @i f&. . w2, qies
(C) ICICI Bank (B) IS GG e

(D) Indian Bank (©) =iz, 1. &z, f3. R, AT

(D) 3G s
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\ 16. Fatheris four times the age of his daughter.
[fafterS years, he would be three times of daughter’s
age, then further after 5 years, how many times he
would be of his daughter's age?

(A) 2 times

Y., 7
X
(B) 3 times LA
. gt At
(© 1.5times '17\— v
o N
(D) 2.5 times VL7 ﬁ%‘
\O"’D

17. A t_wq-di gitnumber is such that the product
of the dlgl.[S 15 8. When 18 is added to the number,
then the digits are reversed. The number is

(A) 24

A
(B) 81 A ot
(©) 18 #”
X
(D) 32 g
18. Find the value of 0.002 x 0.5 = ? ,
(A) 0.001 12‘\% :
o
(B) 0.1 %
(C) 0.0001 % 2o\
(D) 0.01 ac,)\""t
1

19. The respective ratio between 52% of X and
30% of Y is 12 : 5. If X is 50 more than Y, what
is the value of 2X + Y’ ?

(A) 260
(B) 490
(C) 230
(D) 390

20. Amitis 6 yrs. older than his wife Soma. The
present age of their son, Bunny is 1/3rd ofSc?ma’s
present age. If the sum of present age of Amit and
Bunny is 54 yrs., what was Soma'’s age »@gn

Bunny was born ?4/ g)‘

(A) 28 0%
(B) 36 A 7 %
(C) 24 AN A Y
(D) 32 Y ’é

Y X _\2
- 4—/@39\0*'/\

L e e et e i W At e

16. R 9 GIOTE braod | 3T 5 T=F AT O
T (R AT o 7, O 98 5 =l A,
o Bl GIER WEE Fo8T 37

(A) 20
(B) 3 a9
(C) 1.5

(Pf 2.5 e

17. @3 43 wFfRfG AT TFadd GIFe 8|
I WAMGT A 18 @I 41 ZF, O RN
TR A ARG | R T 2

(A) 24
(B) 81
(C) 18
(D) 32

18. I Ay o=+
0.002 x 0.5 =7

AT 0.001
(B) 0.1
(C) 0.0001
(D) 0.01

les
pa

19, X-9952% 9 Y~99 30% G Soirs 12: 5 |
T X499 77 Y~93 (6T 50 @R, Oz 22X 4 Y
97 TIF IS A ?

(A) 260
(B) 490
(©) 230
(D) 390

IA.
of w
com

20. WS SF A G 6@ 6 T2=7 16 | O
G (A AR 7 G TSN 0T 1/3 58 |
3t e g3 3 T e WD 54 7= @,
(R A AR A IS T S o7

(A) 28
(B) 36
(€) 24
(D) 32

25,
512
he ty

IUmb



21. The sum of 3 numbers is 136. If the ratios
petween first and sccond be 2:3 and that between
second and third is 5:3,then the second number is

(A) 48

(B) 60 \'07 h.r5
(©) 40 i(f\/a\‘g - 6°
(D) 52 o %

22. 15 men take 21 days of 8 hrs. each to do a
piece of work. How many days of 6 hrs.each would
21 women take, if 3 women do as much work as

2men ? AN w5
W20 4, s, QW
(B) 30 xS vf
(C) 18
D) 25 r,“?_’

23. How many seconds a train 100 meters in
length running at the rate of 36 km/hr will take to
pass a certain telegraph post ?

o0
(A) 12seconds 2 ;.'y\
(B) 18 seconds 0
(C) 10 seconds |V
(D) 15 seconds

24. ‘A’ cancompleteapiece of workin 12 days.
*A’ and ‘B’ together can complete the same piece
of work in 8 days. How many days can ‘B’ alone
complete the same piece of work ? »

(A) 18 days ?JX =

(B) 28 days : 4
(C) 15 days

(D) 24 days

- 25. The sum of two digits of a two digit number
15 12 and the difference between the two digits of
the two digit number is 6. What is the two digit
number ? :
(A) 75
(B) 93
(©) 60
(D) 84

e\
Lol
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21. e Ay iR 1361 o g7 8 B
oA A 2:3 3R fFSHH 8 e AU A
5.3 =, ©7d faem R &

(A), 48

) 60
(C) 40
(D) 52 °

22. saﬁmwmwmwzlﬁam
aﬁmmﬁwmmnewmwww
21mmﬁ¢mﬁmwwﬁﬂm
mm,nﬁqwmzmwmmm?

(A) 20
(B) 30
(C) 18
(D) 25

23. T 36 Rt @t 100 fiiota Y @z o
&7 w3 GFdE ¢irte T CRLICS MR
AR

(A) 12 TS
(B) 18 (&S

MCY 10 OIS

(D) 15 T

24. ‘A’ O I 12 T A0 AR A’ G
‘B’ G WX T O A St 8 e 1 afw
Gt ‘B’ FIG0! IS B OIE O Fofe AW
GIRICK]

(A) 18 =
(B) 28 fa=
©) 15f=
D) 24 i

25. 72 wHRfR @l e wrmenE Tl 12
R A 6:}‘3‘%%?1%3{:{1@ G2
(A) 7
“(B) 93
(C) 60
(D) 84
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26. Five bells begin to toll together at ml;r.valj
of 9 seconds, 6 seconds, 4 seconds, 10 secon “’h"mw
§ seconds respectively. Starting together, ho

many times will the bells toll together in a span of
1 hour?

(A) 8

B) 12

© 3 9 \ ) Y
(D) 10 )

27. Sachin Tendulkar has a certain average for
| 11 innings. In the 12th innings he scores 120 runs

and there by increases his average by 5 runs, his
new average is

= - ,-1,\'4
(A) 62 o “‘TW T w0
(B) 66 B
\
(©) 60 \qp":b,/(ao
D) 65

28. The wheel of a motor car makes 1000
revolutions in moving 440 m. The diameter (in

meter) of the wheel is A0

(A) 0.34
(B) 0.14
(C) 0.44
(D) 0.24 | =

29. Find the odd one out
(A) Carl Lewis
(B) Usain Bolt
(C) Ben Johnson
(D) Emil Jacktopek -

30. 7:49::17:7 \‘”(
(A) 288 /‘f)g(
(B) 324
(C) 119

(D) 290

(8)

2 6 m

g1 AT 9 CIFS, 6 G
4;%Wf?)maa<8mmaamamm
o7 F7d | GF YO TIAE OF FOIW &=

A ?
(A) 8
(B) 12
©) 5

Mw

27. *5R (oo 11 e 3 e
| 1299 2 R 120 7MW FaTe 933 2
SIF 91T 5 M I TR, ©IF THH 91T TS 2
' (A) 62

(B) 66
(C) 60

VBT 65

28. (AR N 51 440 m veTrs 1000 317 §
BT g == (D)
(A) 0.34

BT 014

(C) 0.44
(D) 0.24

(C) @A G
(D) afi= Sy

30. 7:49::17:2
(A) 288
(B) 324
(©) 119
(D) 290
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1. .\\’hich 91‘ the following words will appear
ourth in the dictionary ?

(A) Sanatorium
(B) Sanction
(C) Sanctity
(D) Sanskrit

32. Gopal said, pointing to Govind ‘His father

is my father’s only son’. How is Gopal related to
Govind ?

(A) Grandson U“,g(/ Wg?/

(B) Son s

@
(C) Grandfather
(D) Father

33. Molly travelled from point A to point B
which is 5 feet. He then travelled 6 feet to his right
and then turned to left and went 4 feet. Finally, he
again went 6 feet to his left. How far is he from the
point B now ?

(A) 6 feet
(B) 4 feet
(C) 10 feet

(D) 5 feet

A

34. Vinod introduces Vishal as the son of the
only brother of his father's wife. How is Vinod

related to Vishal ? .
(A) Son %% ‘\‘wﬁf
(B) Brother = ‘/A
(C) Uncle e
(D) Cousin

35. Sitais olderto Swapna. Lavanyais older to
Swapna but younger than Sita. Varna is younger

lhaq both Hari and Swapna. Swapna is older to
Hari. Who is the youngest ?

\

(A) Vama C,j;

(B) Hari G-

(C) Sita

(D) Lavanya Q“E%aﬂ/

e\
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31, Fraffrs xmefm s G wfeurm 5oy
ugauitickek
(A) Sanatorium
(B) Sanction
(C) Sanctity

L-,(D*)/Sanskrit
32, cottelre o
isE RE G 74’ | AT
T ?
(A) 7S
(B) (==
(©) Il
SP7 R
33, W A 2GS (U0 AT B (9 (I TE AR
5 75| oraea fof o) S 6 0 eI 9K
wra+a 3T e T 4 6 (e | SR fef wrae
3 s 6. 35 (51 | Fof @3 B ST (406 0 71l
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(A) 67T
(B) 43T
(C) 1055
(D) 5%b
34, Rem o Prom 87 O3 SRR +d

o R #faen sh o Rem-ag e
ICRIlGERER R

(A) 4

(B) 2

(C) T
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36. IMEKLFis codedas 91782 and LLLIK ns
88867, then how can IGHE[%_ be caded ?

(A) 6452 A
(B) 53410 (¥ o
(C) 97854 (V0 g

(D) 75632 6'1/

37. Sclect the missing number from the given
responscs: '

7| 3
216 | 64
(A) 512
(B) 1000
(C) 343
(D) 729 2%
2

38. What should come in e place of question
mark (?) in the following number series ?

2,10, 30, 9, 130, 222

(A) 95 q ¥

(B) 42 & ‘3.//\ !

(C) 125 ap 20

® 65 Xz FTH
7 9)0%

39. How many such ‘R's are there in the
following Jetter series which are immediately

Preceded by ‘M’ and immediately followed by
‘Kl?

NPKRMDCNMRKPQKRNMR
KRMKPRM

(A) Four

(B) Five

(C) Three

(D) Two

40, If84><13=8:1nd37x13=61hen
560 %22 =
q.
(A) 7 @A :)\
®9 Yx %
© 6
(D) 8

36 %22 =

(10)

36. 3 MEKLF (&G z3 91782 gae I;LLJP
1S 7 88867, ©iza IGHED (G [ 204 ¢
(A) 64521
UBT 53410
(C) 97854
(D) 75632

37. e afefiefE (e o Afye Tl frsy

TFA
AT 512

(B) 1000
(C) 343
(D) 729

38. Fferie e fiftre 2 %5 (2) gz i
It S 2

2,10, 30, 2, 130, 222
(A) 95
(B) 42
(C) 125
(D) 68

39. FefRe o i RREESICE = IS
SR 313 B @y e 9 3 »icg ‘K’ Siig 2

NPKRMDCNMR K p KRN
KRMKPR M = MR

(A) w1

(B) is

(©) fom
VBT 7%

MR K

40.?1%84><13=8ma37x|3=6.m

(A) 7

@9

©) 6

(D) 8
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41, ‘\\ hich one of the following units is not a
unit of electrical measurement 9

(A) Coulomb
(B) Sicmen
(C) Angstrom
(D) Ohm

42. Theheadquarters of the Intemnational Labour
Organization is at

(A) New York

(B) Washington D.C.
(C) Geneva

(D) Paris

43. WhereistheIndian Forest Research Institute
located ?

(A) Dehradun
(B) Shimla
(C) Bhopal
(D) Lucknow

44, Cow milk is a rich source of
(A) Vitamin-B
(B) Vitamin-D
(C) Vitamin-A
(D) Vitamin-C

wi?hs' The name Kunjarani Devi is associated
(A) Boxing

(B) Weight Lifting
(C) Archery

(D) Swimming

(11)
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41, FrafiPre s o ofe AR
T 72 |
(A) o1
(B) e
AC) G
(D) ST

42, ST @ AR A TFed TAZS
(A) ez
(B) ewif*is5 fE. .
Nlaflsacicl
(D) ~ifa=

43, SR TRy S (FIE SR 2
AA) (arA
(B) &=
(C) CoIAm
(D) =CH

44. o9 7y e i oI Ty
(A) fShifm-R
(B) fouifim-f&
(C) Tebifim-q
(D) fSoifim-f

45. eI o Tl Tt —
(A) AR
(B) SI¥ Tramm
(C) Sw&!
(D) o=
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46. The Income Tax in India is
(A) Indircct and Progressive
(B) Indirect and Proportional
(C) Direct and Proportional
(D) Direct and Progressive

47. India’s coastline measures
(A) 5516.6 Kms
(B) 3316.6 Kms
(C) 7516.6 Kms
(D) 4516.6 Kms

48. Whichone of the followingis anexample of

nitrogen fixing bacteria?
(A) Eukaryotic
(B) Rhizobium
(C) Azotobacter
(D) Procaryotic

49. The pigment that helps in photosynthesis

(A) Chromatophore
(B) Leucoplasts
(C) Chloroplasts
(D) Chromatoplasts

50, The World’s driest desert is
(A) Gobi
(B) Thar
(C) Atacama
(D) Sahara

(12)

46, ©rTSd TRPA L
(A) GiererF a% 2T
(B) S| R QHF]?NW
(€) e ¢ TrAfe?
(D) &5 aR gsifeAa

47. ©ITTA BAGEENE 0 Z
(A) 5516.6 fFenfaoE
(B) 3316.6 ReaIfGE
~(C) 7516.6 R0
(D) 4516.6 Ret=AfoE

T
(A) TSHfRs
(B) wizcafaar
(C) SHITEIORIER
(D) carTfacte

(A) CFEIGITTT

(B) Fewmars
AC) @Iass

(D) GFMIGIEPG

50. <{f3d7 wwow gl
(A) ¢hifd
(B) ¥4
(C) it
v(D) A==

48. farare @At arRGew G s

49. feNe @ T MEReicer afftmry s



51. Whichofthe following isa vectorquantity?
(A) Force '
(B) Mass
(C) Density
(D) Inertia

52. .Who was the Peshwa when the Third Battle
of Panipat was fought in 1761 ?

(A) Bajirao II
(B) Madhava Rao
(C) Bajiraol
(D) Balaji Bajirao

53. Jaldapara Sanctuary is located in
(A) Madhya Pradesh
(B) West Bengal
(C) Assam
(D) Tamilnadu

54. Exposureto sunlighthelpsaperson improve
his health because
(A) resistance power increases.
(B) the ultraviolate rays convert skin oil
into vitamin- D.
(C) the Infra-red light kills bacteria in the
body. :

(D) the pigment cells in the skin get
stimulated and produce a healthy tan.

55. In which district of West Bengal was Raja
Rammohan Roy born?

(A) Hooghly
(B) Nadia

(C) Burdwan
(D) Murshidabad

(13)
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51, fre @b coga A
(A) 3
(B) &
(C) IT9
(D) Tel

52. 1761GH orfieirar SO Jead R CATl

@ famm e
(A) e ferana

(B) WA < C

(A) =fetny el Jfa |

(B) SR 2R Ea o feoiRm-fo-o
ZArEd I

(C) TS SIEE AT DT 20
FE|

(D) wZa 9gF @i Twifrre T O
0D TrEEd BIA tofa I
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(A) T
(B) =i
(C) IfTH
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S6. Which of the following is not a member of
South Asian Association of Regional Cooperation
(SAARC)? Q\d

(A) Myanmar w(‘;"
(B) Pakistan htf\
(C) Bhutan

(D) Nepal

5.7. Sixbe]lscommencctollingtogethcrandtoIl
at intervals of 2, 4, 6, 8, 10 and 12 seconds
respectively. In 30 minutes, how many times do
they toll together ? -

(A) 10
(B) 16
© 9
(D) 15

58. The difference between the areas of a
rectangle and square is 35 cm? If the rectangle’s
length and breadth are 50% more and 10% less
respectively than the side of the square, whatis the
area of the rectangle? (in cm?) Gj&f?"?

A) 105 e’
(B) 145 .
o
© 100 g™ g
* NaE
(D) 135 % %oﬂ

59. A man goes uphill at an average speed of
24 kmph. and comes down at an average speed of
30 kmph., the distance travelled in both the cases
being the same. The average speed for the entire

journey is K\D
(A) 30 kmph. ?ﬂ\p’%

(B) 30.8 kmph. Lo A

(C) 26.6 kmph. %% 0
(D) 32.6 kmph.

60. The average weight of a group of 75 girls
was calculated as47 kg. It was la'terdzscovered that
the weight of one of the girls was re:?d ;lns
45 kg, whereas her actual was 25 kg. What is t 'f
actual average weight of the group of 75 girls 7
(rounded off to two digits after decimal)

(A) 46.73 kg. 2

(B) 45.96 kg. O/,@g
(C) 47.26 kg ‘5:0 iy

: \
(D) 46.64kg. - %gﬁ‘;@
AW %

56 ﬂm@mﬁwﬁmaﬁmwwﬁamﬁﬁ

Heg ()3 A AL
(B) A
(C) oM
(D) G4

57, &AM 901 GF A A OF FI 93 IUFH
2,4,6,8, 10933 12 G 4 I1eer | 30 [ifts

ST I AL TS G ?
(A) 10
BT 16
©) 9
(D) 15

58. <0 wrmorTa ¢ 36 I5TwTTa CraTE
A4 70 35 cm?) I SReTRay o Wae o7
9TCwafba AR G M 50% @RS 10% 7w
A, O SROrFAD (a6 I8 2 (in cm?)

(A) 105
(B) 145
(C) 100
(D) 135

59. OTTH AL T 24 Rofi/9%1 Afors Borg
T 9% 30 /991 sifere S 1, Toy wEn -

AT R RS | 7@ W27 o1 i) 2= is
(A) 30 fsf/951 st

(B) 30.8 f&f/g9%;

6.6 f&f/9%:

(D) 32.6 /a9

60. <36 w1 75 o (T 1% @' 47 @l | oiga
I AW (@ 90 (T ST (7741 W 4S &fF, 71
T OT 25 (T MR 75 B o e sls emm 'x
F9 7 (WIfIEa 719 2 o% 7MW w1fY) of
(A) 46.73 =fa
(B) 45.96 =f&
(C) 47.26 =f&
Mémsféf
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61. In a relief camp of 550 men, food was
:nough for 28 days. If 150 more people joined the
:amp, the same amount of food will be cnough for

(A) 25 days
(B) 10 days gf:o v\\
(C) 35days
(D) 22 days

KoRisy
)ﬁ

62. What should come in place of ‘?” mark in
the given number series?

1,8,9,64,25,7,49
(A) 40
(B) 216
(C) 36
D) 99

63. Find the odd one out:
(A) Japan
(B) SriLanka
(C) India
(D) New Zealand

64. Five girls M,N,O,P and Q are standing in
row. Pis on the right of Q. N is on the left of Q, but
is on the right of M. P is on the left of O. Who is
standing on the extreme right ?

(A) O ~
L €
(B) Q L
© N VLY
0P =TT, ¢ -
(.

65. 1f ‘A’ means ‘+’, ‘B’ means ‘~', ‘C' means
%" and ‘D’ means ‘+’then what will be the value
of following expression 7 -

8D2A6C3BS5 5
W25 oy q,e(cay\ﬂ?
(B) 10 ‘ e.)(":’g
(© 30 AT =~ <
(D) 17 — Qs

-7\“"
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61. 550 T A aef @ AR 23f‘w—c-'mr'_?
e ft | 7 @ @ feifTa S e 1507 el
o, ST @3 FeAfaslel 2Ie BFes

(A) 25
(B) 10
© 3

22 fua

62. ﬁmﬁﬁ@mﬁﬁ@ﬁmﬁc’a(?)ma
AL
—3
1,£,9.64,25,%.49
(A) 40
(B) 216
ST 36

(D) 99

63. FrRRe TMofE T S (I 2
(A) Gl
(B) HeTs!
(C) SrasId
_p) FeRee

64. <o @ M,N,0,P @R Q Ffa=meia
Wi eng | P, Q ua A | N, QU 3 s frg
M 93 TRME Wew Wiz O 93 I S P wtE,
TR FAAE A & vifew =g ?

0
B) Q
(C) N
(D) P

65. I ‘A’ @awd ‘4, ‘B’ w3 = ', 'C’ 93
9y ‘%’ @32, ‘D’ O ‘=, OrztA RS adfaa Tm
AT

8D2A6C3BS
(A) 25
(B) 10

(C) 30
ey
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66. What should come in the place of question

mark (?) in the following number scries ?
9,20, 33, 48, ?, 84, 105

(A) 68 &
(B) 62 A}Z

©) 72 \
\

(D) 65 A:D—qz

(7

67. What does NATO stand for ?
(A) North American Treaty Organisation
(B) New Atlantic Treaty Organisation
(C) North Atlantic Treaty Organisation
(D) New American Treaty Organisation

68. The ‘Dronacharya Award’ is given (o
(A) Sports Editors
(B) Umpires
(C) Coaches
(D) Sportspersons

69. The Matatila .Hydel Project is on which
river ?
(A) Koyna in Maharashtra
(B) Tapti in Gujarat
(C) Betwa in Uttar Pradesh
(D) Mahanadi in Odisha

70. What should be the student- teacher ratio at
the upper primary level in schools under the Right

to Education (RTE) Act ?
(A) 25:1
(B) 45: 1
(C) 15:1
(D) 35:1

(16)

66 fmﬁﬁsmﬁﬁr@?ﬁﬂﬁ‘f(?)-ﬂﬂ bk
$14 O M K4

H GFAA?
9, 20,33, 48,7, 84, 105
(A) 68
(B) 62
(C) 72

5 63

7. TS (NATO)'A =24l Fieifo 17
JA) North American Treaty Organisation
(B) New Atlantic Treaty Organisation
(C) North Atlantic Treaty Organisation
(D) New American Treaty Organisation

68. ‘@I’ AT=E (ET T
(A) TGl AW
(B) SPAMRES
(C) dffrsama
(D) FieifwoR

69. Troifesl TR 2FHD @W Ad SAR
TAZG ?
(A) TZRANGI FFA 791
(B) ©TANGd oifd 7l
(C) SGAAWTA (Eroral 1l
(D) efexir szt

70. Freaefien (Smaite) @izm aEfrese e
T (eifis @ e d-Feme W{ﬁl@ A ”o;en? ;’f?;
(A) 25: 1 co
(B) 45:1
(C) 15:1
(D) 35:1



71. Qll:\ Gopinath is the first woman chicf
economist to be appointed to which international

organization?
(A) Asian Infrastructure Investment Bank
(B) World Bank
(C) Asian Development Bank
(D) Intermational Monetary Fund

72. ‘Lilavati’ was written by
(A) Hemchandra Acharya
(B) Mahaviracharya
(C) Bhaskaracharya
(D) Kalkaacharya

73. The sun gets its energy from which of the
following ?
(A) Nuclear Fission
(B) Photoelectric effect
(C) Chemical Reaction
(D) Nuclear Fusion

74. *Athelete’s foot’, is a disease caused by
(A) Fungi
(B) Protozoa
(C) Bacteria
(D) Nematode

75: The velocity of sound in air (under normal
ondition) is

(A) 332 m/sec
(B) 3320 m/sec
(C) 30 m/sec

(D) 3200 m/sec

RrRBSI(P)/19
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71, el caAme (Rl arreifos a5gm e
payl &fors) “IfZel A4 G Ol IRLE
(A) @ gty fafast e
(B) fm@Re
(C) «fFIr G ARE
(D) i Il 2@

72, ‘SRS FreafaE
(A) coTod Tl
(B)
©)
(D)

73. qﬁﬁm@mﬁ?cm*iﬁf@@ﬁm?
(A) frefea fee

74, <HIAEFGH B A0 T 2B —
(A) =AD
(B) S
(C) i
(D) freTe

75. S =T @91 (FreiE S=gh) —
“A) 332 /.
(B) 3320 fi/@.
(C) 30 f/.
(D) 3200 fi/@.
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76. The worki

e ng ol a Rocket is based on the
panciple of

(A) Kepler's Law
(B) Pascal's Law
(©) Boyle's Law
(D) Newton's Law

77. Which on

e of the elements is least likely to
be found in com :

mercial fertilizers 2
(A) Phosphorus

(B) Silicon

) Nitrogcn

(D) Potassium

78. Which of the fo]
density?
(A) Coke
(B) Graphite
(C) Charcoal
(D) Diamond

lowing has the highest

79. The Stock Market Index of London Stock
Market is referred as

(A) Brent

(B) Sensex

(C) Footsie (FTSE)
(D) NIFTY

80. A certain industrial loom weaves

weave 25 meters of cloth?

0.128 meters of clothevery second. Approximately
(A) 200
° ) 170 . \ 1
g/ (D) 220 .

how many seconds will it take for the l’o)czn to
N (B) 195
NG a2k
(0 \W% ~ /

(18)

76. AT TG @ Neq Goa o ara zm
(A) IS o ;]f
(B) ARG -
() ST o Fi
«D) f86ETa I

77. Afifere Aaefre fmfERe @m diala

AT Y1 I T 7 !
(A) T9TaH ,25’
(B) Giferam
(C) G
(D) =fvrfrars

78. Nvq @ABT T TmEm @i 2 Rf
(A) == per
(B) sirwizs pric
(C) T mal
AD) [z

79.3@%%%%%%

BT w9 = 5
rect:
(A) &% of th
(B) GWTw is th
(C) TGH1 (9ofasiz)
D) =l
(D) -

/N 8§
(80, X9 o 3 o o 0,128 RO 1975 o 17

@M1 25 BOR Fo6 705 $1o THoa 70 oS 265
I FI9Cq ® : Wha

(A) 200
(B) 195
(©) 170
(D) 220

9.‘.;#\/75(
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‘31- Inanclection between two candidates, 759%
of the voters cast their votes, out of which (2 % 0(;'
the votes were declared invalig. A candidu.l_c ol
9261 votes which were 75% of the total valid vc%lc
Find the total number of voters. .

(A) 15800
(B) 16800
(©) 15700
(D) 16700

82. A sum of money doubles itself in 4 years at
asimple interest. Inhow many years will it amount
to 8 times of itself ?

Ofa
(A) 12 years LB A F
(B) 28 years P—fy "‘)\ . ©
(C) 8 years (Loﬁb 307

(D) 24 years

83. A man purchased 35 kg of rice at the rate of
Rs. 9.50 per kg and 30 kg at the rate of Rs. 10.50
per kg. He mixed the two. Approximately, at what
price (in Rs.) per kg should he sell the mixture to
make 35% profit in the transaction ?

(A) 1250 (o © N
(B) 13.50

) 12

(D) 13

84. The ratio of the length and the breadth of a
rectangular plot is 6:5 respectively, if the breadth
of the plot is 34 meters less than the length, what
is the perimeter of the rectangular plot ?

(A) 408 meters

-2
(B) 814 meters % |S}O
(C) 374 meters ‘nA Y
(D) 748 meters QDj %’—'} 4)(0/
=

85. Inan examination it is required to get 40%
of the aggregate marks to pass. A student gets
3 265 marks and is declared failed by 55 marks.

What is the total marks in the said examination ?
(A) 750
(B) 550 o 2%
(©) 800
(D) 650 0°

RBSI(P)/19

81. 40 et T oo FEm, 75% cere
O (eib fres, ara T 02% i STy Caral
| gt | gwem il 9261 6 (S5 (ot 7 G
T4 (S04 75% & | Gaib coiGra e e w=m

(A) 15800
(B) 16800
(C) 15700
(D) 16700

82. g AAfmie e 779 07 4 TR fAs = |
O IRCI O - 8 B AA?
(A) 12324
Mm
(C) 83=A
(D) 24 =9

83, «TT e 9.50 Bt (& wra 35 (S oie
Q3% 10,50 B1 f% 7 30 & wim e | fof
geara b1 fiftre sz | @3 s v ofs e
& % I (Greey) T 730 ola Qs 8w 35%
S AT

(A) 12.50
(B) 13.50
©) 12
(D) 13

84. T WTOIFA &6 (M) W ATTA TS
6:51 3 o7 T gem 34 -fE T @, ©w@
e 25l A T
(A) 408 fSiora
(B) 814 fi5r™

3 (C) 374 fior

\ BT 748 fibr

85. AT TR 2euE T AT =R 40%
NG ATATE | TG T 265 TS (IS (1 55 794

T PSR T Sepale T | & SR (@6 999
T

(A) 750
(B) 550
\AET 800

(D) 650
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86. 1fthenew numeratorofa fractionisincreased
by 200% and the denominator of the fraction 1§

increased by 150%, the resultant fraction is %

What is the original fraction ?
(A) 3714
(B) 2/15
(C) 3716
(D) 37110

87. 1f 72 x 96 = 6927, 58 x 87 = 7885, then

79%86=7 i% g»@'

(A) 7689 { T
(B) 6897 2\/92 ‘ﬁc’z
(C) 8976 QAQ’?, @/
(D) 6978 <

88. Coffee : Caffeine :: Tobacco : ?
(A) Nicotine
(B) Tanin
(C) Alexine
(D) Novocaine

89. Complete the given letter series in the
following:

a__ab_baa_bb _
(A) aabb
(B) baba
(C) abab
(D) bbaa

90. Xistheeastof Y whichisinthe north of Z.
If Pis in the east of Z, then in which direction of X,
is P? N
(A) South-West
(B) West
(C) South-East
(D) South

.
ﬂ/;)

V.
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86. 1 (@ ST 9 200% 3% F91 78 @3

= 150% 3 <A, ORe T Gl

9 | e watHls 797
35

(A) 3/14

(B) 2/15

(C) 3/16

(D) 3/10

r

87. T 72 x 96 = 6927, 58 x 87 = 7885, ©I=
79x86= - -
(A) 7689
(B 6897
(C) 8976
(D) 6978

897

88. Coffee : Caffeine :: Tobacco : ?
(A) Nicotine

B} Tanin : 2
(C) Alexine ' [‘:

(D) Novocaine

89. fefeRs Bt = < ¢
a_%abb baaabb b
(A) aabb
(B) baba

ey abab
(D) bbaa

90. T ‘X’, 'Y’-93 T RFw W, Y, ‘7'~
TG 47 7, P’ ‘299 e 9_iEe 7w, o,
‘P, X979 @R WS ¢

. (A) wFE-#Few
(B) 5
(C) whEeet-=d

AR TR
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_91. Vivek and Ashok start from a fixed point
Vivek moves 3 km north and tums right and thc:;
covers4km. Ashok moves 5 kmwest and s right
and walks 3 km. Now how far are they apart‘ 9 :

(A) 9 km

(B) 6 km L

(©) 10km 3 .
s

(D) 8 km

92. Select the missing number from the given
responses:

|7 | 3 2
| 4 9 6
2 1 5
& [ o1 | 7| |
(A) 58
(B) 65
(©) 51
D) 64

93. In a certain code language “T" is written as
20, ‘TAX’ is written as 20124 and ‘XERO’ is
written as 2451815. How would the word ‘BABY”
be written in that code language ?

(A) 21224 & '?/\
(B) Cannot be determined ﬂ; 2
(C) 21225 le
(D) 21220

94, Choose the odd one W Y% 6"P
(A) JKL ) lq‘j:’ P q &9(
®) TUV e aye
(C) CDE asiad
(D) PQS

95. All of the following noble gases are present
in the atmosphere, except

(A) Helium
(B) Xenon
(C) Argon
(D) Radon

RBSI(P)/19

91. REIT 922 Wi «af fifie B oz T
o 34 | [Aeas 3 66 Sara aremma #7 wwiie g
e 4 M | s wifisw fice 5 fefi menm o
TRt IR 9@e 3 66 am | 94 e v A

b,(“’«‘)/ 9 &
(B) 6=
(©) 10RfM
(D) 8 Bl
92. &G efefraTaf (s SrsifEe TRt
FF
7 3 2 ‘L
4 9 6 22
2%
2 1 5 /g
69 91 ? L
(A) 58
~65
(€) 51
(D) 64

93, 3 e @ EE ‘T @ 20 A &
7, ‘TAX’ & 20124 933 ‘XERO’ 2451815 &=
T4 T8 oI5 ‘BABY’ *[@ (0 (I (PTG (741 A

(A) 21224
(B) wwrfm
MY 21225
(D) 21220

94, FArfaReslm g @R e ¢
(A) JKL
(B) TUV
(C) CDE

LB PQS

95. Fmfafe @ strtefs g @b IgweE
eifye il ==
(A) fRfFm=
(B) c&+
(C) =5t
D) @S
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96. Track and ficld star Carl Lewis won how
many gold medals at the 1984 Olympic Games 9
(A) Three
(B) Eight
(©) Two
(D) Four

97. Whichofthe followingis notthe function of
Reserve Bank of India (RBD) ?

(A) Banker to Government
(B) Issue of Bank Notes
(C) ABank Mobilizing Deposits

(D) Custodian of Cash Reserves of
Commercial Banks

98. Black cotton soils are also known as
(A) Bhangar
(B) Regur
(C) Bhabar
(D) Khadar

99. In which Rock Edict is Ashoka named in
person and not by his usual title ‘Devanampiya'?
(A) Mahasthan
(B) Taxila
(C) Bahapur
(D) Maski

100. Which of the following is not a particle?
(A) Beta
(B) Gamma
(C) Alpha
(D) Delta
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96. T @3 s orrrt 7 727 1984 A
o (o % 74/t ferefizem o '
(A) fon
(B) =i
(©) 1
(D) o™

97. A5a &M Fers e (. f, 3, )3
0T T2
(A) I IIZ 1T
(B) IS FI5 3] 721
(C) A TR S afzererat
(D) e Aealem Asm gy o

98. = e Wibw &y 2i5fre W ==
(A) ©lex
AB) @3
(C) =7
(D) 4mr=

99. @M Fefafre wrimes ™ T e
IfEITSIR S Boifd ‘o fo wme
(A) T=EHA
(B) &=l
(C) Iz
(D) =&

100. FRufReuRR g @mk w0 7
(A) o
(B) i
(C) =T
(B =%

B





